Virginia High School League

Scholastic Bowl, 2003-04 season

State Competition, Match #1

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the State level. Shawn Pickrell, Marian Suter, Chris Moretti, Adam Fine, Susan Gallaher and Gary Bugg are the authors of these questions, which were also edited four times: once by Pickrell and Fine, a second time by Suter, a third time by Samer Ismail and a fourth time by John Harris.

All participants and spectators must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the State competition before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.  For 10 points, the following is a definition of what biological term? "Anatomically similar members that are able to successfully breed and produce fertile off-spring in the wild."

ANSWER: _species_

2.  Aeschylus (ess-kuh-luss) wrote, for 10 points, what trilogy that includes Agamemnon, Libation Bearers and Eumenides (you-men-uh-deez)?

ANSWER: the _Oresteia_

3.  An 1987 extramarital affair with Donna Rice and a boat called, appropriately enough, Monkey Business, caused the downfall of, for 10 points, what former Presidential candidate?

ANSWER: Gary _Hart_

4.  His music career began at age 14, as a servant to Louis XIV's cousin.  Moliere and Philippe Quinault (qwee-NOH) wrote the librettos to most of his musical works, such as The Bourgeois Gentleman and Armide (ar-MEED).  For ten points, what seventeenth-century French composer died from gangrene caused by jabbing one of his toes with his conducting baton?

ANSWER:  Jean-Baptiste _Lully_ (loo-LEE) 

5.  THIS IS A COMPUTATION QUESTION. Point P is on a circle with radius equal to 10 centimeters and centered at the origin, O.  Ray OP is rotating with angular velocity PI/18 radians per second.  For 10 points, what is the distance in centimeters, in terms of pi, traveled by P along the circle in six seconds?

ANSWER: _10PI/3_ centimeters

6.  For ten points, name the submersible that was first used to explore the ill-fated sunken luxury liner, the Titanic.

Answer: the _Alvin_

7.  He first gained fame on stage as Duke Mantee in the Broadway play The Petrified Forest.  He played Captain Queeg in The Caine Mutiny, and with his wife Lauren Bacall, he starred in Key Largo and The Big Sleep.  For ten points, what actor won an Oscar for The African Queen, but is perhaps best known for playing Rick Blaine in Casablanca?

ANSWER:  Humphrey _Bogart_ 

8.  The book is named for the narrator's fourth child, whom she kills, rather than return to slavery. For 10 points, what is the title of this Toni Morrison novel about Sethe (seth-e), a slave who escapes from Kentucky? 

ANSWER:  _Beloved_

9.  In 1057, this Southeast Asian nation created its first Empire, which was broken up after Kublai Khan's invasion in 1287. As a result of three 19th century wars, this nation lost its independence to the British. After it regained independence after World War II, its fragile democracy was ended by a 1962 military coup by General Ne Win and the nation has remained under military rule ever since. For 10 points, what is this nation whose capital is Rangoon?

ANSWER: _Burma_ or _Myanmar_

10.  It accuses the auto industry in general and General Motors specifically of emphasizing style over safety. For 10 points, name this book written by consumer advocate Ralph Nader.

ANSWER: _Unsafe at Any Speed_

11.  In the sentence "Give the package to whoever answers the door," for 10 points, what English case, which serves the functions of the Latin accusative, dative and ablative cases, is the noun “package”?

ANSWER: _objective_ 

12.  Sugars, starches and dietary fiber are among, for 10 points, what class of macronutrients against which Robert Atkins engaged in a crusade?

ANSWER: _carbohydrates_ or _carbs_ (accept _saccharide_s)

13.  In the era of McCarthyism, the names of hundreds of actors, directors, and others thought to be associated with communism had their names placed on government-generated lists that were then used to deny them employment or to destroy their careers. For 10 points, what is the name given to this practice?

ANSWER: _Blacklist _ (accept word forms, but do not accept blackball which means to vote to exclude from a social group)

14.  It occurred on November 8, 1923. Its leaders were planning to use Munich as a base for their intended revolution against the Weimar Republic. For 10 points, what was this failed revolution for which Adolf Hitler served five years in prison?

ANSWER: _Munich Putsch_ or _Beer Hall Putsch_ (PUTCH)

15.  Their name literally means "public case," and they were first developed in China prior to the fifteenth century.  Over 1700 of them exist, usually consisting of questions followed by answers or great statements by masters.  Zen Buddhists may be able to achieve enlightenment if they contemplate, for ten points, which sayings, such as "What is the sound of one hand clapping?"

ANSWER:  _koan_s (koh-AWN)

Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.   Name the queen of Carthage who kills herself when she is abandoned by Aeneas in The Aeneid.

ANSWER:  _Dido_ (DYE-doh)

1B.  The words alcohol, alembic, and algebra all come to us from what language? 

ANSWER: _Arabic_

2A.  What name is given to the class of programming errors that do not disrupt compilation, but which cause the program to abort during its execution, such as "segmentation fault" or "floating point exception"?

ANSWER: _run-time_ errors

2B.  What war was started in 1740 when Charles Albert of Bavaria, Philip V of Spain and Augustus III of Saxony all claimed the throne of a certain powerful European nation?

ANSWER: The War of the _Austrian Succession_

3A.  TWO ANSWERS REQUIRED. What are the names, in either order, of the two American rovers that landed on the surface of Mars in December and January?

ANSWER: _Spirit_ and _Opportunity_ (order doesn’t matter)

3B.  THIS IS A COMPUTATION QUESTION.  A is the reciprocal of 1000.  What is the value of A to the negative four-thirds power?

ANSWER: _10,000_

4A.  What island, belonging to Russia, extends about 625 miles from the northwestern tip of Hokkaido to the Russian mainland?

ANSWER: _Sakhalin_

4B.  This may require some computation. When the following reaction is completely balanced using the smallest whole numbers, what will the coefficient of water be?  Cu + H2SO4 yields CuSO4 + SO2 + H2O

ANSWER: _2_

5A.  THIS IS A COMPUTATION QUESTION.  What is the least common multiple of 8 and 124?

ANSWER: _248_

5B.  What son of the nymph Thetis killed Trojan hero Hector in _The Iliad_, but was himself slain by Paris when an arrow struck his heel?

ANSWER:  _Achilles_

6A.  Who painted both the _Nocturne in Blue and Gold_ and the _Arrangement in Gray and Black_, the latter a portrait of his mother?

ANSWER:  James Abbott McNeill _Whistler_

6B.  What metal's atom is at the center of a chlorophyll molecule?

ANSWER: _magnesium_

7A.  What type of teeth are also called "cuspid" teeth?

ANSWER: _canine_ teeth

7B.  What industrial corporation formed via a 1901 merger was the first billion-dollar corporation in the U.S.?

ANSWER: _U.S. Steel_ or _United States Steel Corporation_ (prompt on USX Corporation, by which the corporation was known between 1991 and 2001.) 

8A.  Man's ability to satisfy man's unlimited wants and needs is limited. What term do economists use to describe this situation, where demand for a given resource or good exceeds its supply?

ANSWER: _scarcity_

8B.  For what college basketball team does Diana Taurasi, the 2003 Naismith National Player of the Year, star?

ANSWER: University of _Connecticut_ Lady Huskies (accept _UConn_)

9A.  THIS IS A COMPUTATION QUESTION.  Reno, Nevada is approximately directly north of Los Angeles, California.  Reno's latitude is 40 degrees north, while Los Angeles’ is 34 degrees north.  If the radius of the earth is 6300 kilometers, what is the north-south distance between the cities, expressed in terms of pi?

ANSWER: _210PI_ kilometers (which is 659.7 km)

9B.  THIS IS A COMPUTATION QUESTION.  P of X is a polynomial. The remainder theorem states that P of K equals the remainder when P of X is divided by what binomial?

ANSWER: _X-K_

10A.   Helen, Andromache, (an-dro-mock-e), and The Trojan Women are among the surviving works of what Greek writer of tragedy?

ANSWER:  _Euripides_ (you-RIP-uh-deez)

10B.  The cook, an oiler, the captain, and a war correspondent are all forced into a small sailing vessel when their ship sinks in the short story "The Open Boat." Name the author.

ANSWER:  Stephen _Crane_

Third period: 15 tossups
1.  For 10 points, what poem associated with Robert Burns is often set to music and sung to usher out the old year and welcome in the new?

ANSWER:  _"Auld Lang Syne"_

2.  THIS IS A COMPUTATION QUESTION.  For 10 points, in lowest terms and as an improper fraction, what is the decimal 1.72?

ANSWER: _43/25_ 

3.  His fellow cast member in a trio of movies, Miranda Otto, says he "has the innocence of a child, the wisdom of a ninety-year-old man, and the grace of an angel."  He claims to be, in fact, more on the child side, blaming his 5'6 height.  For 10 points, what actor's favorite book is The Hobbit, although Hollywood gossip reports that his rumored girlfriend Franka Potente is trying to cure him of his Frodo addiction?

ANSWER: Elijah _Wood_

4.  For 10 points, what name is given to the imaginary circle that delimits the sky and the Earth, beyond which the sun “sets”? 

ANSWER: _horizon_ 

5.  TWO ANSWERS REQUIRED. On June 16, 2003, representatives of these families met in Pikeville, Kentucky, and signed a truce, bringing an end to over a century of feuding between, for 10 points, what two Appalachian families?

ANSWER: _Hatfield_s and _McCoy_s

6.   Who, in 1786, discovered that nerves could be electrically stimulated and produce muscle contraction?


ANSWER: Luigi _Galvani_

7.  While this legal term is usually associated with doctors, it can also be used as grounds for a lawsuit against accountants, lawyers and any other professional. For 10 points, what is this term that is defined as the delivery of substandard care or services that result in harm to the patient or client?

ANSWER: _malpractice_

8.  For 10 points, what is the ratio of the current vapor pressure of water in the air to the vapor pressure at which air would become saturated at its current temperature, usually expressed as a percentage?

ANSWER: _relative humidity_ (prompt on humidity)

9.  In eight months of the year, this Roman day fell on the 13th of a month. For 10 points, what is the Roman day that in the other four months fell on the 15th?

ANSWER: _Ides_ 

10.  The easiest method of solving this puzzle involves taking all 54 stickers off, thus making it the same color on all sides. For 10 points, what is this puzzle invented by a Hungarian professor, a puzzle where there are over 54 quintillion ways of arranging the cube? 

ANSWER: _Rubik's_ cube

11.  The Platonic dialogue, Crito, is about the title character offering to help a philosopher escape from prison. However, the philosopher tells Crito that citizens must follow the laws of the state even to the end of life. For 10 points, who was this philosopher who then drank the hemlock, as ordered by the Athenian authorities. 

ANSWER: _Socrates_

12.  The two last kings of Rome, Lars Porsenna and Tarquinius Superbus, were, for 10 points, from what people?

ANSWER: _Etruscan_s

13.  He was a Marine in World War II, and created the character of Clarabelle the Clown on the Howdy Doody Show. For 10 points, who was this children's entertainer who died in January at age 76, and who was best known for playing Captain Kangaroo?

ANSWER: Bob _Keeshan_ (accept an early Captain Kangaroo)

14.  Matthew Maule places a curse on the family of a colonel. The curse is lifted when a descendant of Maule and a descendant of the colonel fall in love. For 10 points, name this Nathaniel Hawthorne novel featuring the Pyncheon family.

ANSWER: The _House of the Seven Gables_

15.  When compounds react, the bonds that hold them together are physically broken, releasing, for 10 points, what type of potential energy stored in a molecule's bonds?

ANSWER: _chemical_ energy (accept potential energy on an early buzz)

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.  THIS IS A COMPUTATION QUESTION.  F of x equals the square root of the difference 3x minus 5 {f(x) = (3x-5)^.5}.  For 10 points, what are the composite functions h of x and g of u such that f of x equals g of h of x?

ANSWER: _H(X) = 3X-5 ; G(U) = SQRT(U)_

2.  It is formed by the joining of the Cowleech, Caddo and South Forks. It ends in a lake with the same name, which is also fed by the Neches (NAY-chase) River. The lake empties into the Gulf of Mexico. For 10 points, what is this river that forms part of the border between Louisiana and Texas?

ANSWER: _Sabine_ River

3.  THIS IS A COMPUTATION QUESTION. A pressure of 1140 millimeters of mercury is equal to, for 10 points, how many atmospheres of pressure?

ANSWER: _1.5_ or _1.50_ atmospheres

4.  Abdul Qaneer (KAH-neer) Khan is considered the godfather of, for 10 points, what nation's nuclear program?

ANSWER: _Pakistan_

5.  For 10 points, name the naturalist writer who died in 1902 and who is noted for such works as McTeague, The Octopus and The Pit.

ANSWER: Frank _Norris_

All questions copyright 2004 by the writers. Unauthorized use, as described on the first page of this document, is prohibited.


